Virginia High School League

Scholastic Bowl, 2002-03 season

District Competition, Match #3

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Adam Fine and Christopher Moretti are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
Tiros I and WSR-88D are two satellites used in this branch of science.  For ten points, Aristotle laid the foundations for what study of atmospheric phenomena, which now mainly uses computer tools such as Doppler radar?

ANSWER:  METEOROLOGY (prompt on weather)

2.
For ten points, who is the author of Moll Flanders and Robinson Crusoe?

ANSWER:  Daniel DEFOE
3.
For 10 points, who is the Ohio Democrat that is running for re-election to the House of Representatives despite being in jail on corruption charges?

ANSWER: James TRAFICANT
4. 
When he retired in 1556, for 10 points, what man ruled over Austria, the Netherlands and Spain?

ANSWER: CHARLES V (accept Charles I of Spain)

5.
They can be serif or sans serif. They are measured by points, which are 1/36 of an inch. Microsoft likes to use Times New Roman as its default. For 10 points, this describes what important quality of a printed document?

ANSWER: FONTs

6.
It first became law in AD 306 at the Council of Elvira in Spain, while clergy at the Second Vatican Council attempted to make it optional.  Bishops in the Eastern Orthodox Church and priests in the Catholic Church must, for ten points, follow what practice of remaining unmarried and abstaining from sexual activity?

ANSWER:  CELIBACY
7.
For 10 points, what 1832 war in Illinois is named for the Sauk chief that led the rebellion?

ANSWER: BLACK HAWK War

8.
For 10 points, what is a substance that can make a chemical reaction occur more quickly?

ANSWER: CATALYST
9.
In Russian, this verb is chitatj (CHEE-tahty). In German, this verb is lesen (LEH-sen). In Italian, this verb is leggere (lay-JAY-ray). In French, this verb is lire (LEER). For 10 points, what verb is translated to Spanish as leer (LAY-air)?

ANSWER: to READ
10.
Over his childhood years, he is treated poorly at Mr. Creakle’s school and is forced to endure Mr. Micawber’s schemes before he finally settles with the lawyer Mr. Wickfield.  For ten points, who is this downtrodden title character, a somewhat autobiographical reflection of his author, Charles Dickens?

ANSWER:  DAVID COPPERFIELD
11.
This term refers to a frame of reference that is not accelerating. For 10 points, what is this frame, where Newton’s first law can therefore hold true?

ANSWER: INTERTIAL FRAME or FRAME OF INERTIA
12.
The first step is stating the hypothesis. The second step is proving the base case. For 10 points, what is this process, used to solve proofs by showing that the function is true at step k+1 whenever it is true at step k?

ANSWER: INDUCTION

13.
For ten points, what legendary king’s life was chronicled in a series of historical romances by fifteenth century English author Sir Thomas Malory?

ANSWER:  King ARTHUR (in “Le Morte D’Arthur”)

14.
For 10 points, what movie stars Reese Witherspoon as law student Elle Woods?

ANSWER: LEGALLY BLONDE
15.
Sufferers from this syndrome are subject to nervous tics and the repetition of what other people have said, in addition to the most famous symptom of this syndrome. For 10 points, what is this syndrome whose most familiar symptom involves sufferers involuntarily uttering obscenities?

ANSWER: TOURETTE’S Syndrome

Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.
In what novel by Ayn Rand is the question “Who is John Galt” asked?

ANSWER: ATLAS SHRUGGED
1B. 
What civilization, named for the river valley where it was located, included the cities of Harappa and Mohenjo-Daro?

ANSWER: INDUS Valley
2A.
Who is the current Prime Minister of Canada?

ANSWER: Jean CHRETIEN
2B.
According to the Third Law of Thermodynamics, the entropy of a perfect crystal is zero at what temperature?

ANSWER: ABSOLUTE ZERO (accept 0 Kelvins or -273 Celsius)

3A.
Who was the admiral that commanded the attack on Manila Bay during the Spanish-American War?

ANSWER: George DEWEY
3B.
What is the name for a line that touches a curve at exactly two points?

ANSWER: SECANT LINE
4A.
Chromosomes shorten and thicken, while the nuclear envelope breaks down during what first phase of mitosis?

ANSWER:  PROPHASE
4B.
What Indian-born author wrote the novels Ground Beneath Her Feet, The Satanic Verses, and Midnight’s Children?

ANSWER:  Salman RUSHDIE
5A.
THIS IS A COMPUTATION QUESTION. What is the difference of the three digit numbers 7A3 and 4B1 if B is three more than A?

ANSWER: 272
5B.
MSNBC, in the hope of reviving their ratings, convinced what former talk show host to come out of retirement to oppose Bill O’Reilly and Connie Chung?

ANSWER: Phil DONAHUE
6A.
What word refers to the top part of a head or the part of the tooth which is above the gumline?

ANSWER: CROWN 

6B.
The Volga and Ural Rivers flow into what body of water?

ANSWER: CASPIAN Sea

7A.
In Plato’s Republic, what two-word name denotes the rulers of his ideal society?

ANSWER:  PHILOSOPHER-KINGS
7B.
For ten points, what surgeon, as the head of a commission working in Cuba, disproved the theory that yellow fever was caused by bacteria, and has a medical center in the Washington area named after him?

ANSWER:  Walter REED
8A. 
The French Fort Duquesne stands on the current site of what city?

ANSWER: PITTSBURGH
8B.
THIS IS A COMPUTATION QUESTION. A 15-gallon bleach solution contains 20% bleach.  If 5 gallons of pure bleach are added, how much water must now be added to dilute the solution back to one-fifth bleach?

ANSWER: 20 GALLONS

9A.
What term describes the property of an object to resist a change in its state of motion?

ANSWER: INERTIA
9B.
In the sentence, “The president himself is coming to Hooterville,” what kind of pronoun is “himself?”

ANSWER: INTENSIVE
10A.
THIS IS A COMPUTATION QUESTION. The ratio of x to y is 8 to 5.  What is the value of x when y is 800?

ANSWER: 1280

10B.
What Spanish artist was responsible for The Picnic, Saturn Devouring His Children, and The Third of May, 1808?

ANSWER:  Francisco de GOYA y Lucientes

Third period: 15 tossups
1.
Crater Lake, the Willamette (wih-LAH-met) Valley and Mount Hood can all be found in, for 10 points, what state whose largest city is Portland?

ANSWER: OREGON 

2.
For ten points, what pair of Babylonian lovers communicated to each other through a wall and met near a mulberry tree, but due to a pair of misunderstandings with a lion and a scarf committed suicide, just like Romeo and Juliet?

ANSWER: PYRAMUS and THISBE (THIZ-bee)

3.
For 10 points, what play by Arthur Miller is set during the Salem witch trials?

ANSWER: The CRUCIBLE
4.
Bart Sibrel, an independent filmmaker from Tennessee, asked this man to “swear on a stack of Bibles” that he went to the room. In response, he punched Sibrel. For 10 points, who was this astronaut, the second man to walk on the moon?

ANSWER: Edwin “Buzz” ALDREN
5.
In a stationary one, the winds from the cold air blow parallel to the boundary, while an occluded one results from the meeting of a cold and warm one.  For ten points, what is this boundary between air masses of differing temperature and humidity, seen on weather maps as a chain of either blue triangles or red semicircles?

ANSWER:  FRONT
6.
 This seven-letter word comes from the Latin word for lover. For 10 points, what is this word that refers to someone unskilled, or usually to someone who does something as a hobby, not a profession?

ANSWER: AMATEUR
7.
The complement of the union of A and B equals the complement of A intersected with the complement of B.  For 10 points, for what logician was this property named?

ANSWER: Augustus DeMORGAN
8.
Rhizopus stolonifer (RYE-zoh-pus STOH-loh-nih-fer) is the scientific name for this organism, containing hyphae that spreads on the surface of foods in the form of black dots.  For ten points, what is the name of this fungus, often found on bread stored in warm, dark places?

ANSWER:  MOLD
9.
Joe sees two cars in a fatal accident. He tells his friend Mike, who is later asked to testify at a trial about the accident. Mike’s testimony about what Joe told him would be inadmissible, however. For 10 points, what is the rule of evidence that generally prohibits the admission of secondhand testimony?

ANSWER: HEARSAY
10.
For ten points, what Sondheim musical depicts a rivalry between the Sharks and the Jets?


ANSWER:  WEST SIDE STORY
11.
Often sterile, what general term, for ten points, denotes the offspring of parents that differ in various genetic traits?

ANSWER:  HYBRID
12.
It was written by the tsar’s secret police and made public in 1905. Chapters, or protocols, include Materialism Replace Religion, Power of Gold and Preparing for Power. For 10 points, what is this book that is at the heart of most anti-Semitic conspiracy theories and outlines a supposed plot by the Jewish race to take over the world?

ANSWER: The PROTCOLS of the Learned Elders of ZION
13.
He became severely disabled after a horse riding accident, and has since become a national icon. His progress over the past several years has been remarkable -- he can now feel a pin prick over his body and can distinguish between hot and cold. Some doctors say he might even be able to walk again. For 10 points, who is this quadriplegic formerly known for playing Superman?

ANSWER: Christopher REEVE

14.
For 10 points, firemen are paid to start fires in what Ray Bradbury novel?

ANSWER: FAHRENHEIT 451
15.
During World War II, he commanded US forces in North Africa, and then served with distinction in Sicily, beating his British rival Bernard Montgomery to Messina. After D-Day, he led the breakout from Normandy and then relieved Bastogne during the Battle of the Bulge. For 10 points, who is this legendary commander of the US Third Army?

ANSWER: George PATTON
SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

1.
For ten points, what French painter, with his works Luncheon on the Grass and The Fifer, laid the groundwork for the Impressionist movement?

ANSWER:  Edouard MANET (MAN-ay)

2.
For 10 points, what word fills in the blank in the T.S. Eliot novel, “Murder in the (BLANK)”?

ANSWER: CATHEDRAL
3.
THIS IS A COMPUTATION QUESTION. Maurice Greene, the world’s fastest man, is set to race a really fast tortoise.  Because Greene can run ten times the speed of the tortoise, the tortoise will be given a 1000 meter lead to begin the race.  For 10 points, what is the longest integral length of the race, in meters, that the tortoise can win?

ANSWER: 1111

4.
The process requires only a small template used for copying; nucleotides go in the copies and an enzyme is used to catalyze bond formation between monomers.  Biochemist Kary Mullis invented, for ten points, what lab technique used to exponentially multiply segments of DNA?

ANSWER:  PCR (or POLYMERASE CHAIN REACTION)

5.
In 1956, he participated in a coup against King Faisal II. A year later, he joined the Ba’ath (BATH) party, and tried to assassinate the then-President, Abdul Qassim (KAH-seem). By the late 1960s he was the number two man behind Ahmad Hassan al-Bakr, whom he overthrew in 1979. For 10 points, who is this man that has outlasted four US Presidents as dictator of Iraq?

ANSWER: Saddam HUSSEIN
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